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Section : General Intelligence and Reasoning

Q.1 Select the set of letters that when sequentially placed in the blanks of the given letter series will complete the series.
k_Imml mk mmk lkkl m

Ans X1 k.m,m, k|
X2 Lkmkk
X klmkk
v klLklLm

Question 1D T 1235689

Arrange the following words in the order in which they appear in an English dictionary, ~ Stalus : Answered
. Chosen Option : 1
1. Rightly

! EIGI!"V

Q.2 Arrange the following words in the order in which they appear in an English dictionary.
1. Rightly

. Rigidly

3. Righteous

4. Rigour

5. Rights

Ans K71 1:3.5. 2,4
K 23,51,42
K331,54.2
31,524

(5]

Question 1D T 1235682
Status : Answered
Chosen Option : 4
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Q3 Select the figure that can replace the question mark (?) in the following series.

+
o o.+ O ?
+ ®
Ans
¥
X1 l0®
+
X2 | O
JB. 4 o
@
. +
X 4 (o]
®

Question ID : 12356819
Status : Answered
Chosen Option : 3

Q.4 Study the given pattern carefully and select the number that can replace the question mark (?) in it.

6 21 14
40 | 500 ?
8 25 7

Ans o 1 9]
X 2 84
X 3 08
X 4 78

Question ID : 12356816
Status : Answered
Chosen Option : 1

Q.5 Four words have been given, out of which three are alike in some manner, while one is different. Select the odd word.

Ans X 1. Ferry
< 2. Ship
& 3. Yacht
v 4 Submarine

Question ID : 1235684
Status : Answered
Chosen Option : 1
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Q.6 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

/ﬁz‘ir\ ‘g_ ?

Ans

o Po
o Ppo

o
A
A\
o

Question ID : 12356824
Status : Answered
Chosen Option : 1

Q.7  Select the option that is related to the third number in the same way as the second number is related to the first number
and the sixth number is related to the fifth number.

12::723:18:02:: 221242

Ans - X1 164
X 2. 140
V'3 162
X 4. 160

Question ID : 12356813
Status : Answered
Chosen Option : 3
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Q.8 The given Venn diagram represents employees in an organisation:

The triangle represents executives, the circle represents females, the rectangle represents MBAs and the square
represents technical staff. The numbers given in the diagram represent the number of persons in that particular category.

/213

1 4)6
25 A

11

/ 15 \

How many female executives are there in the organisation?

Ans  of 1§
X211
X315
<410

Question ID : 12356825
Status : Answered
Chosen Option : 1

Q-9 Which two numbers should be interchanged to make the given equation correct?
9+7Xx5-18+2=3x4-10+45+5
Ans 1. 9and 3
2 18 and 45
3 7and 4
XK 42and5

Question ID : 12356814
Status : Answered
Chosen Option : 3

Q.10 Which of the option figures is the exact mirror image of the given figure when the mirror is held at the right side?

RST2PK9LOX

At X 1 XOJekasTz2A
x 2 B2LSbKalrox

< geTSPeloxX
v+ X0oJe)qsrtes

Question ID : 12356823
Status : Answered
Chosen Option : 4
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Q.11 Two positions of the same dice are shown. Select the number that will be on the face opposite to the one showing 6.

(a) (b)

Ans X1
X 2
K 3
v

e R R ™

Question ID : 12356821
Status : Answered
Chosen Option : 3

Q.12 The ratio of the present ages of Asha and Lata is 5 : 6. If the difference between their ages is 6 years, then what will be
Lata's age will be after 5 years?

Ans o 1. 4]
X 2 35
< 3 40
K 4 45

Question ID : 12356818
Status : Answered
Chosen Option : 1

Q.13 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:

1. Some animals are elephants.
2. Some elephants are tigers.
Conclusions:

1. Some animals are tigers.

II. No tiger is an animal.

/< 1. Neither conclusion I nor II follows.
2. Only conclusion II follows.

Ans

3. Only conclusion I follows.

« 2. Either conclusion I or II follows.

Question ID : 12356811
Status : Answered
Chosen Option : 4

Q.14 In a certain code language. ‘HARVEST' is coded as 22-21-7-24-20-3-10°. How will ‘FARMER be coded as
in that language?

Ans X 1. 19-7-15-19-3-8
X 2. 19-7-15-20-3-7
v 3 20-7-15-20-3-8
X 4. 20-7-14-21-3-8

Question ID : 1235688
Status : Answered
Chosen Option : 3
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Q.15 In the following equations, if *+" is interchanged with ‘~* and *6" is interchanged with *7°, then which equation would be
correct?

Ans X1 78 — 68 + 66 =59
X276-75+77=56
X3 62-67+76=83
Vv 4 67-76+43=100

Question ID : 12356817
Status : Answered
Chosen Option : 4

Q16 gelect the number that can replace the question mark (?) in the following series.
17,21,30,46,71,?
ans - X 196
X 2 105
v 3 107
X 4101

Question ID : 12356812
Status : Answered
Chosen Option : 3

@17 How many rectangles are there in the given figure?

Ans X130
X232
V3 33
X4 34

Question ID : 12356820
Status : Not Answered
Chosen Option : --
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Q.18 Select the option in which the numbers are related in the same way as are the numbers in the given set.
(269, 278, 296)

Ans o 1 (313, 322, 340)
2. (109, 118, 128)

3. (419, 430, 448)

X 4. (577, 586, 598)

Question ID : 12356815
Status : Answered
Chosen Option : 1

Q.19 select the option that is related to the third word in the same way as the second word is related to the first word.

Medicine : Disease :: Food : ?

Ans X 1. Energy
& 2. Nutrition
« 3. Hunger
/< 4. Thirst

Question ID : 1235685
Status : Answered
Chosen Option : 3

Q.20 Amit is the brother of Sonia. Jyoti is the sister of Nikita. Sonia is the daughter of Satish’s father. Nikita is the daughter
of Kavinder. Jyoti is the mother of Amit. Mukesh is Nikita’s only sister’s husband. How is Satish related to Kavinder?

Ans X 1. Brother
& 2. Son-in-law
+ 3 Grandson
& 4. Son

Question ID : 12356810
Status : Answered
Chosen Option : 3

Q.21 Select the option in which the words share the same relationship as that shared by the given pair of words.
Clock : Time

Ans X 1. Apemometer : Strains
< 2. Taseometer : Wind
< 3. Balance : Scale
+ 2 Ammeter : Current

Question ID : 1235686
Status : Answered
Chosen Option : 4
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Q.22 Select the option figure in which the given figure is embedded (rotation is NOT allowed).

/_/

Ans

X

2

o|+]|0

Question ID : 12356822
Status : Answered
Chosen Option : 4

Q.23 Four letter-clusters have been given, out of which three are alike in some manner. while one is different. Select the odd
letter-cluster.

Ans X 1. DWIR
X 2. NMSH
v 3. FVKO
X 4. BYGT

Question ID : 1235683
Status : Answered
Chosen Option : 3
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Q.24 Ina certain code language. WARDROBE is written as YXVYXHIV. How will ACCURATE be written as in that
language?

Ans X 1. BZHPXTBV
X 2. CZHPYTBV
v 3. CZGPXTBV
X 4. DZGPXTBV

Question ID : 1235687
Status : Answered
Chosen Option : 3

Q.25 Select the letter-cluster that can replace the question mark (?) in the following series.
CXB, HUI, MRP, ROW, ?

Ans  of 1. WLD
& 2. VKD
X3 WLZ
X 2. VKC

Question ID : 1235681
Status : Answered
Chosen Option : 1

Section : General Awareness

Q.1 As of February 2020, who is the President of Sri Lanka?
Ans X' 1.D.M. Jayaratne

x 2. Chandrika Kumaratunga

x 3. Maithripala Sirisena

( 4. Gotabaya Rajapaksa

Question ID : 12356844
Status : Answered
Chosen Option : 4

Q.2 As on January 2020, Shri Bhupesh Baghel is the Chief Minister of which of the
following states?

Ans X 1 Odisha

x 2. Haryana
« 3. Chhattisgarh

x 4. Jharkhand

Question ID : 12356845
Status : Answered
Chosen Option : 1
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Q.3 Name the physicist who is credited with the discovery of the Neutron. This 1932
discovery led to his winning the Nobel Prize.

Ans x 1. Max Plank
“ 2. James Chadwick

x 3. Enrico Fermi

x 4.J.S. Fleming

Question ID : 12356833
Status : Answered
Chosen Option : 2

Q.4 For which of the following sports was Dronavalli Harika, conferred with the prestigious
Padma Shri award?

Ans X 1. Cricket
( 2. Chess

x 3. Archery

x 4. Badminton

Question ID : 12356847
Status : Not Answered
Chosen Option : --

Q.5 Who is the first and currently the only batsman to score double hundreds in four
consecutive test series?

Ans X' 1 Brian Lara
“ 2. Virat Kohli
5 3.AB. de Villiers

x 4. Rohit Sharma

Question ID : 12356846
Status : Answered
Chosen Option : 4

Q.6 Kolathunadu, Valluvanad and Thekkumkoor were ancient small-time kingdoms in
which state of India?

Ans X1 Bihar

“ 2. Kerala
X 3. Gujarat
x 4. Karnataka

Question ID : 12356840
Status : Answered
Chosen Option : 4

Q.7 Sir Thomas Roe came as an official ambassador from King James | of England to
which Mughal emperor's court?

Ans X' 1 ShahJahan

x 2. Akbar
( 3. Jahangir

x 4. Aurangzeb

Question ID : 12356838
Status : Answered
Chosen Option : 3
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Q.8 Name the media company that purchased the legendary studio of 21st Century Fox.
Ans “ 1. Disney

x 2. Time Warner

x 3. Sony
x 4. Viacom

Question ID : 12356828
Status : Answered
Chosen Option : 1

Q.9 What is the more common name for solid carbon dioxide?
Ans « 1. Dry Ice

25 2. Quick Silver
x 3. Epsom
75 4. Potash

Question ID : 12356830
Status : Answered
Chosen Option : 1

Q.10 Which of these bones is NOT a part of the human ear?
Ans X1 Malleus

x 2. Incus
“ 3. Femur
x 4. Stapes

Question ID : 12356832
Status : Answered
Chosen Option : 3

Q.11 Which of the following books is NOT written by Salman Rushdie?
Ans X' 1. Midnight's Children
( 2. An Area of Darkness

x 3. The Satanic Verses

x 4. Shame

Question ID : 12356843
Status : Answered
Chosen Option : 4

Q.12 The World Food Program (WFP) is the food assistance branch of the United Nations.
Where is it headquartered?

Ans X1 New York

x 2. Brussels

“ 3. Rome
x 4. Paris

Question ID : 12356836
Status : Answered
Chosen Option : 1
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Q.13 What is the uniform GST rate that has been fixed up for lottery prizes by the GST
Council?

Ans X' 1.329%
v 228%
K3.18%
K 410%

Question ID : 12356849
Status : Answered
Chosen Option : 1

Q.14 From India, who inaugurated the Kartarpur Corridor and flagged off the first set of
pilgrims to the final resting place of Sikhism founder Guru Nanak Dev?

Ans x 1. Ram Nath Kovind
x 2. Manmohan Singh
“ 3. Narendra Modi

x 4. Amarinder Singh

Question ID : 12356848
Status : Answered
Chosen Option : 1

Q.15 In which year Sanchi was discovered after being abandoned for nearly 600 Years?
Ans X' 1 1816

& 2.1820
W 3.1818
X 4.1814

Question ID : 12356841
Status : Not Answered
Chosen Option : --

Q.16 Which of these words refers to the scientific study of domestic dogs?

Ans x 1. Chrematistics
“ 2. Cynology
x 3. Craniology
x 4. Carpology

Question ID : 12356834
Status : Not Answered
Chosen Option : --

Q.17 The Araku Valley, atourist resort, is located near which of these cities of South India?
Ans “ 1. Visakhapatnam
x 2. Madurai

x 3. Mangalore

x 4. Kochi

Question ID : 12356837
Status : Not Answered
Chosen Option : --
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Q.18 Prolific Indian painter Magbool Fida Husain predominantly used which of these
animals to depict alively and free spirit in his paintings?

Ans x 1. Tigers
“ 2. Horses
x 3. Elephants

x 4. Cows

Question ID : 12356827
Status : Not Answered
Chosen Option : --

Q.19 The ruins of the ancient city of Hampi - capital of Vijayanagara - is located in which
present day Indian state?

Ans X' 1 Bihar
x 2. Telangana

/5 3.Haryana

( 4. Karnataka

Question ID : 12356835
Status : Answered
Chosen Option : 1

Q.20 Who among the following played the leading lady in the film '"Mission Mangal' that tells
the dramatic true story of the women behind India's first mission to Mars?

Ans X' 1 Kareena Kapoor
x 2. Deepika Padukone
& 3.Kajol

“ 4. Vidya Balan

Question ID : 12356826
Status : Answered
Chosen Option : 4

Q.21 Which of these institutions fixes the Repo Rate and the Reverse Repo Rate in India?
Ans X' 1. Ministry of Finance

x 2. State Bank of India

x 3. Comptroller and Auditor General of India

“ 4. Reserve Bank of India

Question ID : 12356829
Status : Answered
Chosen Option : 4

Q.22 Red worms have a structure named which helps them in grinding their food.
Ans X 1 Crop

“ 2. Gizzard
x 3. Esophagus

x 4. Intestine

Question ID : 12356831
Status : Answered
Chosen Option : 2
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Q.23 Name the author who won the Sahitya Akademi Award 2019 for his book - An Era of
Darkness: The British Empire in India.

Ans ( 1. Shashi Tharoor
X 2. Romila Thapar
x 3. Vikram Seth

x 4. Ramchandra Guha

Question ID : 12356842
Status : Answered
Chosen Option : 4

Q.24 Veteran freedom fighter, social reformer and feminist Savithribai Phule hailed from
which of the following states of India?

Ans X' 1 Odisha
x 2. Rajasthan
( 3. Maharashtra

x 4. Gujarat

Question ID : 12356839
Status : Answered
Chosen Option : 3

Q.25 Sultan Qaboos bin Said of ,the Arab world’s longest-serving ruler and with a
reputation for quiet diplomacy passed away recently (2020).

Ans X 1 Abu Dhabi
x 2. Kuwait
/5 3.Dubai
o 4. oman

Question ID : 12356850
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q.1 The area of A ABC is 44 cm?. If D is the midpoint of BC and E is the midpoint of AB, then the area (in cm?) of
ABDE is:

Ans X1 5.5
vl
X3 44
X422

Question ID : 12356867
Status : Answered
Chosen Option : 2
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Q-2 If the number 1005x4 is completely divisible by 8. then the smallest integer in place of x will be:

Ans (1_ 0
X2 1
X34
X4 2

Question ID : 12356851
Status : Answered
Chosen Option : 1

Q.3 Ifthe base radius of 2 cylinders are in the ratio 3 : 4 and their heights are in the ratio 4 : 9, then the ratio of their volumes
is

Ans K112
X22:1
vsil:4
Ka4:l

Question ID : 12356861
Status : Answered
Chosen Option : 3

Q.4

2
If x,y. z are three integers such that x +y =8, y +z = 13 and z + x = 17, then the value of z—z is:

. 7
1. —
X1

Ans

18
2. 5==%
11

X3 0
X4l

Question ID : 12356863
Status : Answered
Chosen Option : 2

Q.5 The given table shows the number (in thousands) of cars of five different models A, B. C. D and E produced during
Years 2012-2017. Study the table and answer the question that follow.

A |B |C |D |E |Total
2012 (18 (26 |22 |23|31] 120
2013 [22 |18 |32 (4018|130
2014 |32 (43 |26 (35|34]|170
2015 |18 |22 |26 |14|20] 100
2016 |36 |12 |44 (38|50] 180
2017 |12 {48 |40 (22|28]150

The percentage decrease in the production of which type of car in 2017, with reference to 2016, was the maximum?
Ans X1 D
v A
X3 C
X4 E

Question ID : 12356875
Status : Answered
Chosen Option : 2
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Q.6  The given table shows the number (in thousands) of cars of five different models A, B, C. D and E produced during
Years 2012-2017. Study the table and answer the question that follow.

A |B |[C |[D |E |Total

2012 |18 26 |22 |23|31(120
2013 |22 (18 |32 |40 18130
2014 |32 (43 |26 |35(34|170

2015 |18 |22 |26 | 14|20 100

2016 |36 |12 |44 |38|50( 180

2017 |12 (48 |40 |22]28(150

If 2013 and 2014 are put together, which type of cars constitute exactly 25% of the total number of cars produced in
those 2 years?

Ans X 1. C
X 2B
X3 E
VD

Question ID : 12356874
Status : Answered
Chosen Option : 4

Q7 1f x = 4cosA+ 5sind and y = 4sinA — 5cosA, then the value of x> + y? is:
Ans  of 1 4]

X216

X3 25

x40

Question ID : 12356871
Status : Answered
Chosen Option : 1

Q.8 Out of 6 numbers. the sum of the first 5 numbers is 7 times the 6™ number. If their average is 136, then the 6™ number is:

Ans  of 1102
X 296
X3 84
X4 116

Question ID : 12356853
Status : Answered
Chosen Option : 1
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Q.9 The given table shows the number (in thousands) of cars of five different models A, B, C. D and E produced during
Years 2012-2017. Study the table and answer the question that follow.

A |B |[C |[D |E |Total
2012 |18 |26 |22 (23|31]|120

2013 |22 (18 |32 |40 18] 130
2014 |32 (43 |26 |35|34|170
2015 |18 (22|26 |14|20] 100
2016 |36 |12 |44 |38|50]| 180
2017 |12 (48 |40 |22|28]| 150

The percentage increase in the total cars in 2016 over 2012, is:

Ans X 1. 33.33%
X 2 62.33%
v 3 50%
X 4 45%

Question ID : 12356872
Status : Answered
Chosen Option : 3

U0 g y22 = z2¢ = ( and x? = yz, then the value of -‘wﬁ% is:
Ans X1 3ac

X 2. 3bc

X 3 3ab

Vi3

Question ID : 12356864
Status : Answered
Chosen Option : 4

QU g = y =4 and xy = 45, then the value of x® — y? is:
ans - X1 82

v 2 604

X 3 151

X 4 822

Question ID : 12356862
Status : Answered
Chosen Option : 2

Q.12 34,300 becomes 34,644 in 2 years at simple interest. Find the principle amount that will become 10,104 in 5 years at
the same rate of interest.

Ans 1. 37,200
2. 39,260
3. 8,420
4. 35,710

Question ID : 12356858
Status : Not Answered
Chosen Option : --
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Q.13 The given table shows the number (in thousands) of cars of five different models A, B. C. D and E produced during
Years 2012-2017. Study the table and answer the question that follow.

A |B (C |D |E |Total
2012 |18 |26 |22 |23(31(120
2013 |22 |18 |32 |40 18130
2014 |32 (43 |26 |35|34|170
2015 |18 (22|26 |14|20] 100
2016 |36 |12 |44 |38(50( 180
2017 |12 |48 |40 |22(28( 150

In the year 2015, which type of car constitutes exactly 20% of the total number of cars produced that year?

Ans X1 A
X 2D
X3 B
v E

Question ID : 12356873
Status : Answered
Chosen Option : 4

Q.14 1f +> means *-*, *-> means “+*. ¢ x’ means ‘+* and ‘+* means  x’, then the value of 42712X3+8+2+15 g
8x2-4+9+3

Ans 5

KL —=
X 2=
3 —=

19
D

X2

3

Question ID : 12356852
Status : Answered
Chosen Option : 4

Q.15 A person sells an article at 10% below its cost price. Had he sold it for 332 more. he would have made a profit of
20%. What is the original selling price (in %) of the article?

Ans X1 1,328
X< 21,028
~ 3896
v - 996

Question ID : 12356856
Status : Not Answered
Chosen Option : --
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Q16 1f A + B = 45°, then the value of 2(1 + tand)(1 + tanB) is:
Ans K1 2
X220
Vs 4
Kl

Question ID : 12356869
Status : Answered
Chosen Option : 1

Q.17 A train crosses a pole in 12 sec, and a bridge of length 170 m in 36 sec. Then the speed of the
train is:

Ans X 1. 30.75 km/h
& 2 10.8 km/h
v 3 255 kmh
X 4 32.45 km/h

Question ID : 12356860
Status : Not Answered
Chosen Option : --

Q.18 The ratio of the number of boys to the number of girls in a school of 640 students. is 5 : 3. If 30 more girls are
admitted in the school. then how many more boys should be admitted so that the ratio of boys to that of the girls,

becomes 14 : 9.

Ans  of 120
X 2 25

<3 30
X415

Question ID : 12356857
Status : Not Answered
Chosen Option : --

Q.19 m A ABC, MN | BC. the area of quadrilateral MBCN=130 sqcm. If AN : NC=4: 5, then the area of A MAN is:

A

o
(o]

Ans 1

b2

45 cm

[SS]

2. 32 cm

S8}

3 65 cm

4 40 cm

2

Question ID : 12356868
Status : Not Answered
Chosen Option : --
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Q.20 8sin A —4cosA
If A lies in the first quadrant and 6tand = 5. then the value of ~__ "> = is:

Ans o 1]
X2-2
X34
X416

Question ID : 12356870
Status : Not Answered
Chosen Option : --

Q.21 If the length of a rectangle is increased by 40%, and the breadth is decreased by 20%, then the area of the rectangle
increases by x%. Then the value of x is:

Ans X120
X 28
X316
vi12

Question ID : 12356855
Status : Answered
Chosen Option : 4

Q.22 A shopkeeper marks the price of the article in such a way that after allowing 28% discount. he wants a gain of 12%. If
the marked price is 2224, then the cost price of the article is:

Ans X1 F168
< 2. 3120
< 3 3196
v Z144

Question ID : 12356854
Status : Not Answered
Chosen Option : --

Q.23 The radius of a circular garden is 42 m. The distance (in m) covered by running 8 rounds around it, is:

(Take =2
Ans X1 3248
X 2. 4262
X 3 1124
v s 2112

Question ID : 12356866
Status : Answered
Chosen Option : 4
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Q.24 A, Band C are three points on a circle such that the angles subtended by the chord AB and AC at the centre O are 110°
and 130°, respectively. Then the value of ZBAC is:

Ans - X 1. 65°
X 2 75°
v 2 60°
X 4. 70°

Question ID : 12356865
Status : Not Answered
Chosen Option : --

Q.25 A,Band C can individually complete a piece of work in 24 days, 15 days and 12 days, respectively. B and C started the
work and worked for 3 days and left. The number of days required by A alone to complete the remaining work. is:

Ans xl_ 18

b |

@
—
(5%}
| o

K41l

Question ID : 12356859
Status : Answered
Chosen Option : 3

Section : English Comprehension

Q.1 Fill in the blank with the most appropriate word.
We must help to the homeless and physically disabled people.

Ans “ 1. render

x 2. donate
x 3. exert

x 4. contribute

Question ID : 123568100
Status : Answered
Chosen Option : 3

Given below are four jumbled sentences. Select the option that gives their correctorder
A. However, the rate of population increase is another important factor to consider.
B. This change can be expressed in two ways.

C. Growth of population refers to the change in the number of inhabitants of a country.
D. First, in terms of absolute numbers and second, in terms of percentage change.
Ans X1 BADC
< 2.BDCA
« 3.CBDA

/< 4.cADB

12256820,

Question ID :
Status : Answered
Chosen Option : 3
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Q.3 Select the passive form of the given sentence.

The manager keeps the work pending.

Ans x 1. The work has been kept pending by the manager
x 2. The work was kept pending by the manager.
( 3. The work is kept pending by the manager.

x 4. The work are being kept pending by the manager.

Question ID : 12356878
Status : Answered
Chosen Option : 3

Q.4 In the sentence identify the segment which contains the grammatical error.

One of the boys from our school have been selected for National Badminton
Championship.

Ans ( 1. have been selected
x 2. from our school
x 3. for National Badminton Championship

x 4. One of the boys

Question ID : 12356877
Status : Answered
Chosen Option : 1

Q.5 Select the correct synonym of the given word.

Obligatory
Ans ( 1. Mandatory

x 2. Reckless

x 3. Useless

x 4. Aggressive

Question ID : 12356890
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement

The Director will agree with the proposal if we do not exceed the budget.

Ans x 1. agreed by the proposal
x 2. agree on a proposal
x 3. No Improvement

( 4. agree to the proposal

Question ID : 12356881
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Communication plays a (1) role in the overall development of man. It can be learnt by
our (2) efforts. Today, success in our professional life depends on our (3) to
read, write and speak well which results in effective communication. Barriers (4)
communication hinder the communication process. It is very important to (5) these

barriers so that the transmission of the message can be smooth.

SubQuestion No : 7
Q.7 Select the most appropriate option for blank No. 1

Ans X 1 better
W 2. vital
x 3. total
/X 4. lifeless

Question ID : 12356883
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Communication plays a (1) role in the overall development of man. It can be learnt by
our (2) efforts. Today, success in our professional life depends on our (3) to
read, write and speak well which results in effective communication. Barriers (4)
communication hinder the communication process. It is very important to (5) these

barriers so that the transmission of the message can be smooth.

SubQuestion No : 8
Q.8 Select the most appropriate option for blank No. 2

Ans X 1 contradictory

X 2. unclear
X 3. important

( 4. conscious

Question ID : 12356884
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Communication plays a (1) role in the overall development of man. It can be learnt by
our (2) efforts. Today, success in our professional life depends on our (3) to
read, write and speak well which results in effective communication. Barriers (4)
communication hinder the communication process. It is very important to (5) these

barriers so that the transmission of the message can be smooth.

SubQuestion No : 9
Q.9 Select the most appropriate option for blank No. 3

Ans X' 1 variety
X 2. agility
W 3. avility
25 4. facility

Question ID : 12356885
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Communication plays a (1) role in the overall development of man. It can be learnt by
our (2) efforts. Today, success in our professional life depends on our (3) to
read, write and speak well which results in effective communication. Barriers (4)
communication hinder the communication process. It is very important to (5) these

barriers so that the transmission of the message can be smooth.

SubQuestion No : 10
Q.10 Select the most appropriate option for blank No. 4

Ans  of 110
X 2. against
5 3.by
X 4. from

Question ID : 12356886
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Communication plays a (1) role in the overall development of man. It can be learnt by
our (2) efforts. Today, success in our professional life depends on our (3) to
read, write and speak well which results in effective communication. Barriers (4)
communication hinder the communication process. It is very important to (5) these

barriers so that the transmission of the message can be smooth.

SubQuestion No : 11
Q.11 Select the most appropriate option for blank No. 5

Ans X1 strengthen
X 2. create
J 3. overcome

x 4. succeed

Question ID : 12356887
Status : Answered
Chosen Option : 3

Q.12 Select the correct synonym of the given word.
Scintillating
Ans X 1 stinging
( 2. Glittering
X 3. Flattering

x 4. Boring

Question ID : 12356891
Status : Answered
Chosen Option : 2
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Q.13 Select the word, which means the same as the given group of words.

Something that cannot be heard
Ans X' 1 infaliible

75 2. audible
W 3.inaudible

x 4.irrevocable

Question ID : 12356896
Status : Answered
Chosen Option : 3

Q.14 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement

The captain as well the players were responsible for winning the trophy.

Ans x 1. The captain also the players were
i 2. The captain as well as the players was
x 3. As The captain with the players were

x 4. No Improvement

Question ID : 12356880
Status : Answered
Chosen Option : 4

Q.15 Select the appropriate meaning of the given idiom.

To take French leave

Ans X' 1 Welcome the host
x 2. Acknowledge the host
x 3. Leave with written permission

( 4. Leave without any intimation

Question ID : 12356895
Status : Answered
Chosen Option : 4

Q.16 Given below are four jumbled sentences. Select the option that gives their correct
order

A. However, they ignore the truth that progress and success are proportional to the
labor they putin.

B. The general human tendency is to find faults in the policies framed by the
government.

C. They blame the government for their slow progress, expecting miracles and magical
transformation in their life.

D. So people openly criticize and condemn the policy makers.
Ans X' 1.CDAB

/< 2.DBAC
W 3.B0CA
< 4.ABCD

Question ID : 12356888
Status : Answered
Chosen Option : 3
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Q.17 Select the word, which means the same as the groups of words given.

A song sung at a burial
Ans X' 1 Sonnet

« 2. Dirge
x 3. Hymn
7% 4.Ballad

Question ID : 12356897
Status : Answered
Chosen Option : 1

Q.18 Select the appropriate meaning of the given idiom.
A hard nut to crack
Ans X' 1 Easily disappointed
o 2. A difficult problem
x 3. Not restrained

x 4. Easily encouraged

Question ID : 12356894
Status : Answered
Chosen Option : 2

Q.19 Fill in the blank with the most appropriate word.

Handle this glass table with care because it is
Ans x 1. frugal

725 2. ductile
“ 3. fragile
x 4. volatile

Question ID : 123568101
Status : Answered
Chosen Option : 3

Q.20 Select the correctly spelt word.
Ans x 1. Bouquette

x 2. Humilliation

“ 3. Sarcasm

x 4. Retalaite

Question ID : 12356899
Status : Answered
Chosen Option : 3
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Q.21 Select theindirect narration of the given sentence.

He said to the hotel receptionist, “Can you tell me the tariff of rooms?

Ans x 1. He asked the hotel receptionist that if he can tell him the tariff of rooms.
x 2. He asked the hotel receptionist to tell him the tariff of rooms.
x 3. He enquired the hotel receptionist if he can tell him the tariff of rooms.

« 4. He asked the hotel receptionist if he could tell him the tariff of rooms.

Question ID : 12356879
Status : Answered
Chosen Option : 3

Q.22 In the sentence identify the segment which contains the grammatical error.

I can swim very fast when | was only five.
Ans ( 1.1 can swim

X 2. when | was
x 3. very fast

x 4. only five

Question ID : 12356876
Status : Answered
Chosen Option : 1

Q.23 Select the correctly spelt word.
Ans  of 1 exhibit

x 2. exteract

x 3. exhoust

x 4. exhail

Question ID : 12356898
Status : Answered
Chosen Option : 1

Q.24 Select the correct antonym of the given word.

Exodus

Ans X' 1 Departure
x 2. Refund
< 3. Exit
“ 4. Arrival

Question ID : 12356892
Status : Answered
Chosen Option : 4
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Q.25 Select the correct antonym of the given word.

Quiescent
Ans X" 1 Peaceful

X 2. Dejected
X 3. Indifferent

( 4. Active

Question ID : 12356893
Status : Not Answered
Chosen Option : --
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Section : General Intelligence and Reasoning

Q1 How many triangles are there in the given figure?

A

s X1 8
X2 12
X3 6
v i 10

Question ID : 123568121
Status : Answered
Chosen Option: 4

In an exam of 80 questions, a correct answer is given +1 mark. a wrong answer is given —1 mark, and if a question is not

Q.2 attempted there are zero marks. If a student attempted only 80% of the questions and got 32 marks, then how many
questions did he answer correctly?
questions did he answer correctly?

Ans X132
v 2 48
X 3 56
X 4 16

Question ID : 123568119
Status : Answered
Chosen Option : 2




Q.3 Select the option figure in which the given figure is embedded (rotation is not allowed).

Ans

X 2 N
N/
N/
X 3

Question ID : 123568123

Status : Answered
Chosen Option: 4

Q4  Select the letter that can replace the question mark (?) in the following series.
IMP2 \OY
A X LR
X220
vzs
XaT

Question ID : 123568102
Status : Answered
Chosen Option: 3

Q5 Select the letter-cluster that can replace the question mark (?) in the following series.
BRH, ZUD, ? , VAV, TDR, RGN
Ans X1 XYZ
X2 XZY
X3 X77
v i XXZ

Question ID : 123568110
Status : Answered
Chosen Option : 4




Q.6  Select the option that depicts how the given transparent sheet of paper would appear if it is folded at the dotted line.

Ans COUTC

1925 AQ4OL,

QUCO:;UII :D » LIJVUO0O LD
Status : Answered
Chosen Option: 4

Q.7 Four number-pairs have been given, out of which three are alike in some manner and one is different. Select the
number-pair that is different from the rest.

Ans X142 -12
v 2 57-38
X 3 28-60
X 4.39-72

Question ID : 123568115
Status : Answered
Chosen Option: 1

Q.8  Select the option that is related to the third number in the same way as the second number is related to the first number.

2809:53::1524:?

Ans X1 3]
v 32
< 333
X 4 35

Question ID : 123568114

. Not Attempted and
Status ‘Marked For Review

Chosen Option : --




Q.9 ‘Cardiologist’ is related to “Heart” in the same way as ‘Neurologist” is related to * %

Ans X1 Lungs
X 2 Ears
+ ¢ Brain
& 4 Teeth

Question ID : 123568106
Status : Answered
Chosen Option : 3

Q.10 Ina certain code language, 'HAMMER' is written as ICPQIX'. How will WRENCH' be written as in that language?
Ans - X 1 XTHRIN

v 2 XTHRHN

X s XTIRHN

X 4 XTIRIN

Question ID : 123568108
Status : Answered
Chosen Option : 2

Q.11 Three different positions of the same dice are shown. Select the symbol that will be on the face opposite to the one
showing * <.

Ans 1@

X223
X3 &
X #

Question ID : 123568122
Status : Answered
Chosen Option: 1

Q12 Which two signs should be interchanged to make the given equation correct?
36+2x12+3-6=24
Ans - X L +and x
X 2 —and+
V'3 xand-
X 4 +and x

Question ID : 123568118
Status : Answered
Chosen Option : 3




Q.13 Study the given pattern carefully and select the number that can replace the question mark (?) in it.

7 13 6

4 22 18

15 % 7
Ars o 122

X224
X323
X 4 21

Question ID : 123568116
Status : Answered
Chosen Option : 1

Q.14 Read the given st: its and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:

1. All dogs are lions.

2. No elephant is a lion.
Conclusions:

1. No dog is an elephant.
II. No lion is a dog.

III. Some elephants are dogs.

Ans 1. Only conclusion II follows.
2. Only conclusions II and III follow.
3. Only conclusion I follows.

4. Only conclusions I and III follow.

Question ID : 123568112
Status : Answered
Chosen Option: 3

Q.15 Select the option in which the words share the same relationship as that shared by the given pair of words.
Faculty : Teachers

Ans  of 1 Fleet : Trucks
2 Colony : Wolves

3. Galaxy : Apartments
< 4 Ants : Flock

Question ID : 123568107
Status : Marked For Review
Chosen Option : 1

Q.16 Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the odd
letter-cluster.

Ans  of 1. FHKM
& 2. BEHK
X 3 IMPS
X 4 ADGJ

Question ID : 123568104
Status : Answered
Chosen Option : 1




Q.17 Study the given pattern carefully and select the number that can replace the question mark (?) in it.
5 4 41
Is 6 ?
9 11 202
Ans XK 1122
X2 212
X 3 209
v 4 261

Question ID : 123568117
Status : Answered
Chosen Option : 4

Q.18 Eight words have been given, out of which seven are alike in some manner and one is different. Select the odd word.

Monitor, Headphone, Mouse, Keyboard, Windows, Printer, Scanner, Speaker

Ans X 1. Mouse
#< 2 Monitor
v 3 Windows
< 4 Printer

Question ID : 123568105
Status : Answered
Chosen Option: 3

Q19 A + B means ‘B is the brother of A’;
A — B means “A is the mother of B”:
A x B means ‘A is the father of B™;
A+ B means ‘A is the son of B’.

If P+ R X T—-Q=+ S+, then how is S related to R?
Ans X1 Brother

< 2 Grandfather

#< 3 Grandson

v ¢ Son-in-law

Question ID : 123568111
Status : Answered
Chosen Option : 4




category.

19

How many married ladies are teachers?

Ans X111
X226
X309
Vi3

55,58,64,?, 85
Ans - X170
v 73
X 3 67
X477

Q.20 In the given Venn diagram, the ‘circle’ represents ‘ladies’, the ‘triangle’ represents ‘teachers’, and the ‘rectangle’
represents ‘unmarried persons’. The numbers given in the diagram represent the number of persons in that particular

Question ID : 123568126
Status : Answered
Chosen Option : 4

Q21 Select the number that can replace the question mark (?) in the following series.

Question ID : 123568113
Status : Answered
Chosen Option: 2




Ans

Ans

o=

NG

2 @)
o7

s
1o

.|
oA

Y )
44

v 1 40424
X 2 44024
X 340422
X 4 42404

Q.22 Select the correct mirror image of the given figure when a mirror is placed on the right of the figure.

O
Que

Status : Answered
Chosen Option: 2

Q.23 Ina certain code language, 'PEN' is coded as '321028'. How will 'TUB' be coded as in that language?

Question ID : 123568109
Status : Answered
Chosen Option: 1




Q24 Select the figure that can replace the question mark (?) in the following series.

&

Ans

&2

QuestionlD.:123568120

Status : Answered
Chosen Option: 1

Q25 Arrange the following words in a logical and meaningful order.

[

. Hexagon

2

. Nonagon
3. Pentagon
4. Heptagon

5. Octagon
Ans  of 1 3-1-4-5-2

Question ID : 123568103
Status : Answered
Chosen Option : 1

Section : General Awareness




Q.1 In which district of Karnataka is the Brahmagiri Wildlife Sanctuary located?
Ans X 1. Mandya

2. Udupi
X 3. Hassan
« 4. Kodagu

Question ID : 123568138

. Not Attempted and
Stats ‘Marked For Review

Chosen Option : --

Q.2 Which of the following festivals means ‘Merry making of the Gods'?
Ans X1 Diwali

( 2. Lai Haraoba

X 3. Pongal

X 4. Makar Sankranti

Question ID : 123568128
Status : Marked For Review
Chosen Option : 2

Q.3 In which year was the foundation stone for the Gateway of India laid in Bombay (now
Mumbai)?

Ans X' 11920
75 21015
o 31013
< 4.1905

Question ID : 123568141
Status : Marked For Review
Chosen Option: 3

Q.4 What was India’s position in the Brand Finance Nation ranking of 2019?
Ans 1 Third

X 2. Fifth
« 3. Seventh
< 4. sixth

Question ID : 123568130

. Not Attempted and
Status ‘Marked For Review

Chosen Option : --

Q.5 Which of the following is the major component of vinegar?
Ans X 1. Lactic acid

X 2. Citricacid

X 3. Nitricacid

“ 4. Acetic acid

Question ID : 123568131
Status : Answered
Chosen Option : 4




Q.6 Which of the following is NOT a vertebrate?

Ans X1 Fish
X 2. Mammal
& 3.Bird
« 4. Snail

Question ID : 123568133
Status : Answered
Chosen Option: 4

Q.7 Who among the following was the last ruler of the Nanda dynasty?Ans

X 1. Kaivarta

x 2. Govishanaka

X 3. Panduka

“ 4. Dhanananda

Question ID : 123568140
Status : Marked For Review
Chosen Option : 4

Q.8 In which of the following states is the Madhavpur Mela celebrated?Ans

“ 1. Gujarat
x 2. Bihar

X 3. Uttar Pradesh

X 4. Madhya Pradesh

Question ID : 123568127

. Not Attempted and
Stats ‘Marked For Review

Chosen Option : --

Q.9 Objects that shine in the night sky are known as:
Ans X1 constellations

( 2. celestial bodies

X 3. meteoroids

X 4. asteroids

Question ID : 123568136
Status : Marked For Review
Chosen Option : 2

Q.10 Who among the following was honoured with the 50th Dadasaheb Phalke Award?
Ans X 1. Anupam Kher

X 2. Kamal Haasan
x 3. Naseeruddin Shah

« 4. Amitabh Bachchan

Question ID : 123568143
Status : Answered
Chosen Option : 4




Q.11 Which of the following glands is present between the lungs?Ans

X 1. Pituitary
X 2. Pineal

X 3. Hypothalamus

« 4. Thymus

Question ID : 123568132
Status : Answered
Chosen Option : 4

Q.12 InJanuary 2020, Home Minister Amit Shah released a book ‘Karmayoddha Granth’. This
book is based on the life of

Ans « 1. Narendra Modi

X 2. Jawaharlal Nehru
25 3. Sardar Vallabhbhai Patel
X 4. Mahatma Gandhi

Question ID : 123568151
Status : Answered
Chosen Option : 1

by which country?
Ans X 1. Nepal

x 2. Bhutan
5 3 china

f 4. Bangladesh

Q.13 Archaeologist R Nagaswamy was honoured at the Silver Jubilee International Conference of Art

Question ID : 123568144

. Not Attempted and
Status ‘Marked For Review

Chosen Option : --

Q.14 In which of the following countries was the 95th edition of the prestigious Hastings
International Chess Congress held?

Ans X1 France
( 2. England
X 3. Australia
X 4. Belgium

Question ID : 123568148

. Not Attempted and
Status ‘Marked For Review

Chosen Option : --




Q.15 When we cut an onion, the synthase enzyme converts the amino acid sulfoxides of theonion
into which acid?

Ans X 1. Sulphuric acid

( 2. Sulfenic acid

X 3. Citric acid

X 4. Nitricacid

Question ID : 123568135
Status : Answered
Chosen Option: 2

Q.16 Which state’s Legislative Assembly adopted a new logo consisting of the national emblemand
foxtail orchid (Rhynchostylis Retusa), the state flower, in January 2020?

Ans ( 1. Arunachal Pradesh
X 2. Meghalaya
X 3. Mizoram
X 4. Tripura

Question ID : 123568146
. Not Attempted and
Status ‘Marked For Review
Chosen Option : --

Q.17 Wings India 2020 is scheduled to be held in which of the following airports?Ans
X 1. Vijayawada Airport
X 2. Rajahmundry Airport
x 3. Warangal Airport

« 4. Begumpet Airport

Question ID : 123568150
Status : Marked For Review
Chosen Option: 4

Q.18 In which state was the Global Investors Meet, ASCEND 2020 organised?
Ans X 1. Gujarat

f 2. Kerala
X 3. Rajasthan

X 4. Maharashtra

Question ID : 123568129
Status : Marked For Review
Chosen Option : 1

Q.19 Borra caves are situated on the East Coast of India in which of the following hills?Ans
X 1. Nagari Hills
X 2. Horsley Hills
X 3. Nallamala Hills

« 4. Ananthagiri Hill

Question ID : 123568137
Status : Marked For Review
Chosen Option : 3




Q.20 Which of the following was previously known as ‘the Lady Willingdon Park'?
Ans x 1. Mughal Gardens

x 2. Deer Park
x 3. Buddha Jayanti Park

“ 4. Lodhi Gardens

Question ID : 123568142

. Not Attempted and
Stats ‘Marked For Review

Chosen Option : --

Q.21 ‘'Industry 4.0" is a complex cyber-physical system which synergies production with digital

40"
Ans X1 |IT Madras
25 2.11T Bombay

< 3.1IT Delhi
“ 4. 11T Kanpur

technologies. The Ministry of Railways and the Department of Science and Technology have
joined hands in partnership with which institution for taking up a unique project on 'Industry

Question ID : 123568145
Status : Marked For Review
Chosen Option : 1

Q.22 Who became the first Indian equestrian to qualify for the Tokyo Olympics 2020?AnS
X 1. Amar Sarin

( 2. Fouaad Mirza
X 3. Amit Sinsinwar

#5_ 4. Sehej Singh Virk

Question ID : 123568147

. Not Attempted and
Status ‘Marked For Review

Chosen Option : --

its former value when the distance between them is doubled?
Ans X 1 Stefan's Law

x 2. Pascal's Law
“ 3. Coulomb’s Law

x 4. Hooke's Law

Q.23 Which law of physics states that the force between the two electric charges reduces to aquarter of

Question ID : 123568134
Status : Answered
Chosen Option : 3




processing plant?
Ans X" 1 Tamil Nadu

x 2. Karnataka

X 3. Maharashtra

« 4. Gujarat

Ans  off 1 Bimbisara
x 2. Anurudha

X 3. Naga-Dasak

5 4. Udayin

Q.24 In which state has the Khadi and Village Industries Commission (KVIC) opened the first silk

Question ID : 123568149
Status : Answered
Chosen Option : 3

Q.25 Ajatashatru, aruler of the Haryanka Dynasty, was the son of .

Question ID : 123568139
. Not Attempted and
Status ‘Marked For Review
Chosen Option : --

Section : Quantitative Aptitude

Q1

Ans  of 1.
~ 2
~ 3
X

Q2

Ans XK1
o
~ 3
X 4

Q3

Ans XK1
v &3
&3
X 4

Question ID : 123568176
Status : Answered
Chosen Option: 1

Question ID : 123568152
Status : Answered
Chosen Option : 1

Question ID : 123568163

. Not Attempted and
Status ‘Marked For Review

Chosen Option : --




Q4
Ans X 1.
X2
X s
v 3
Question ID : 123568162
Status : Answered
Chosen Option: 4
Q5
Ans X 1.
Vo
X s
r
Question ID : 123568169
Status : Answered
Chosen Option : 2
Q.6
Ans X 1.
X2
v
~ 4
Question ID : 123568157
Status : Answered
Chosen Option: 3
Q.7
Ans X 1.
X2
X
“ 4,
Question ID : 123568174
Status : Answered
Chosen Option : 4
Q8
Ans « 1.
X2
X
~ o4
Question ID : 123568165
. Not Attempted and
Status ‘Marked For Review
Chosen Option : --




Q.9
Ans X 1.
X2
v
r
Question ID : 123568161
. Not Attempted and
Stats ‘Marked For Review
Chosen Option : --
Q.10
Ans ( 1.
X2
X s
X
Question ID : 123568154
Status : Answered
Chosen Option: 1
Q.11
Ans X 1.
Vo
X3
r
Question ID : 123568160
Status : Answered
Chosen Option: 2
Q.12
Ans X 1.
v
X s
~ o4
Question ID : 123568175
Status : Answered
Chosen Option : 2
Q.13
Ans X 1.
X2
X
v
Question ID : 123568164
Status : Answered
Chosen Option : 4




Q.14
Ans « 1.
X2
X s
r
Question ID : 123568153
Status : Answered
Chosen Option: 1
Q.15
Ans X 1.
X2
v
x4
Question ID : 123568168
. Not Attempted and
Status ‘Marked For Review
Chosen Option : --
Q.16
Ans X 1.
X
X3
« 4.
Question ID : 123568171
. Not Attempted and
Status ‘Marked For Review
Chosen Option : --
Q.17
Ans ( 1.
X2
X
&4
Question ID : 123568156
Status : Answered
Chosen Option : 1
Q.18
Ans X 1.
X2
v &)
X
Question ID : 123568158
Status : Not Answered
Chosen Option : --




Q.19
Ans X 1.
X2
v
X
Question ID : 123568170
Status : Not Answered
Chosen Option : --
Q.20
Ans { 1.
X2
X s
r
Question ID : 123568159
Status : Not Answered
Chosen Option : --
Q.21
Ans { 1.
X2
X
~oa
Question ID : 123568172
Status : Not Answered
Chosen Option : --
Q.22
Ans X 1.
X2
&)
X
Question ID : 123568167
Status : Not Answered
Chosen Option : --
Q.23
Ans « 1.
X2
X
~ o4
Question ID : 123568173
Status : Not Answered
Chosen Option : --




Q.24

Ans 1
v 3
~ s
X a4

Question ID : 123568166
Status : Not Answered
Chosen Option : --

Q.25

Ans XK1
v 53
X 3.
X a

Question ID : 123568155
Status : Not Answered
Chosen Option : --

Section : English Comprehension

Q.1 Select the most appropriate word to fill in the blank.

Itisan day to start your new business.
Ans ( 1. auspicious

X 2. audacious
x 3. occasional
X 4. ominous

Question ID : 123568202
Status : Answered
Chosen Option: 1

Q.2 Select the antonym of the given word.
HILARIOUS
Ans X 1. Happy
X 2. Merry
< 3. Blithe
« 4. Sad

Question ID : 123568194
Status : Answered
Chosen Option : 3




Q.3 Select the synonym of the given word.

PATHETIC
Ans  off 1 pitiful

x 2. Curious
X 3. Insignificant

25 4. pull

Question ID : 123568191
Status : Answered
Chosen Option : 1

Q.4 Select the most appropriate word to substitute the underlined word of the given sentence. Ifno
substitution is required, select ‘No improvement’.

There is a great degrade in values in modern age.
Ans ( 1. degradation of values

x 2. No improvement
X 3. demonstration from values

x 4. deliberation for values

Question ID : 123568182
Status : Answered
Chosen Option: 1

Q.5 Select the correct indirect form of the given sentence.

He said to me, ""What are you doing?"

Ans X 1 He said that what | was doing.
X 2. He said what | had been doing.
« 3. He asked me what | was doing.

x 4. He asked me that what was | doing.

Question ID : 123568180
Status : Answered
Chosen Option: 3

Q.6 In the sentence identify the segment which contains the grammatical error.

The modern man is busy acquiring more and more wealth and designing ways to invest it in
more sense pleasures.

Ans X 1 modern man is busy
x 2. acquiring more and more wealth
« 3.in more sense pleasures

x 4. designing ways to invest it

Question ID : 123568178
Status : Answered
Chosen Option : 3




Comprehension:

Inthe following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Machines were made to be man's servants. Yet, man has grown so (1) on them that
are in a fair way to become his (2) . Already men spend most of their lives looking
and waiting (3)____machines. Machines are very stern bosses. They must be fed withcoal and (4)

petrol to drink and oil to wash with and must be kept atan (5)___ temperature.

SubQuestion No : 7
Q.7 Select the most appropriate option for blank no. 1

Ans ( 1. dependent

x 2. inferior

x 3. subordinate

x 4. helpless

they
after

Question ID : 123568184

Status : Answered

Chosen Option: 1

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Machines were made to be man's servants. Yet, man has grown so (1) on them that
are in a fair way to become his (2) . Already men spend most of their lives looking
and waiting (3) machines. Machines are very stern bosses. They must be fed withcoal and (4)

they
after

petrol to drink and oil to wash with and must be kept atan (5)___ temperature.

SubQuestion No : 8
Q.8 Select the most appropriate option for blank no. 2

Ans X1 victims
J 2. masters
x 3. slaves

x 4. administrators

Question ID : 123568185

Status : Answered
Chosen Option: 2

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Machines were made to be man's servants. Yet, man has grown so (1) on them that

they

are in a fair way to become his (2) . Already men spend most of their lives lookingafter

and waiting (3) machines. Machines are very stern bosses. They must be fed withcoal and (4)
petrol to drink and oil to wash with and must be kept atan (5)___ temperature

SubQuestion No : 9
Q.9 Select the most appropriate option for blank no. 3

Ans X 1 into
( 2. upon
x 3. under
x 4. from

Question ID : 123568186

Status : Answered
Chosen Option : 2




Comprehension:

Inthe following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Machines were made to be man's servants. Yet, man has grown so (1) on them that they

are in a fair way to become his (2) . Already men spend most of their lives lookingafter

and waiting (3)____machines. Machines are very stern bosses. They must be fed withcoal and (4)
petrol to drink and oil to wash with and must be kept atan (5)___ temperature.

SubQuestion No : 10
Q.10 Select the most appropriate option for blank no. 4

Ans X1 gave
x 2.give
W 3.given
x 4. gives

Question ID : 123568187

Status : Answered
Chosen Option: 3

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Machines were made to be man's servants. Yet, man has grown so (1) on them that they

are in a fair way to become his (2) . Already men spend most of their lives lookingafter

and waiting (3)____machines. Machines are very stern bosses. They must be fed withcoal and (4)
petrol to drink and oil to wash with and must be kept atan (5)___ temperature.

SubQuestion No : 11
Q.11 Select the most appropriate option for blank no. 5

Ans X" 1 optimist
x 2. outdated
“ 3. optimum
x 4. optional

Question ID : 123568188

Status : Answered
Chosen Option: 3

Q.12 Select the most appropriate word to fill in the blank.

He a heinous crime.
Ans X1 made

( 2. committed
x 3. occurred

x 4. happened

Question ID : 123568201
Status : Answered
Chosen Option : 2




A man in need pleaded for help.
Ans  off 1 Noimprovement

x 2. promised for help
x 3. commanded to help

x 4. requested for helping

correct order.
A. Can | borrow your camera?
B. I will give it back to you next week.

C. I am going to jungle safari tomorrow.
D. My friend told me that jungle is beautiful in these days.

Ans X' 1 ADBC
o 2.cpaB
/% 3.cADB
/5 4.BACD

Q.15 Select the wrongly spelt word.
Ans x 1. Mansion

« 2. Ostentasion

x 3. Extension

X 4. Persuasion

Q.16 Select the most appropriate meaning of the given idiom

Onshank’s mare
Ans “ 1. On foot

x 2.0nalion
x 3.0nabicycle

X 4.0nan elephant

Q.13 Select the most appropriate segment to substitute the underlined segment of the given
sentence. If no substitution is required select ‘No improvement’

Question ID : 123568181
Status : Answered
Chosen Option : 1

Q.14 Given below are four jumbled sentences. Out of the given options pick the one that givestheir

Question ID : 123568189
Status : Answered
Chosen Option: 2

Question ID : 123568200
Status : Answered
Chosen Option: 2

Question ID : 123568196

. Not Attempted and
Status ‘Marked For Review

Chosen Option : --




Q.17 Select the correct active form of the given sentence.

The thief was being arrested by the police.
Ans x 1. The police had arrested the thief.

x 2. The police arrested the thief.
x 3. The police has arrested the thief.

“ 4. The police was arresting the thief.

Question ID : 123568179
Status : Answered

Chosen Option: 4

Q.18 Given below are four jumbled sentences. Out of the given options pick the one that givestheir
correct order.
A. Nevertheless, sound health, economic security and mental satisfaction are desired by all
B. A change that is conducive to happiness may be termed as progress.
C. But different people find happiness in different things.

D. So, If a change contributes to the growth of these factors, it is progress.AnS

X 1.BDCA
o 2.8cAD
/< 3.DBCA
25 4.ABCD

Question ID : 123568190
Status : Answered

Chosen Option: 1

Q.19 Select the synonym of the given word.

PENITENCE
Ans X' 1 patience

x 2. Admiration

f 3. Repentance

x 4. Misery

Question ID : 123568192

. Not Attempted and
Status ‘Marked For Review

Chosen Option : --

Q.20 Select the wrongly spelt word.
Ans ( 1. Practicle

25 2. Flexible
x 3. Elegant
X 4. Flashy

Question ID : 123568199
Status : Answered

Chosen Option : 1




Q.21 Select one word for the following group of words.

One who leaves his own country to settle in another
Ans X 1 Foreigner

X 2. Native
X 3. Tourist
( 4. Emigrant

Q.22 Select one word for the following group of words.

A period of ten years
Ans X 1. Millennium

( 2. Decade
X 3. Century
X 4. Fortnight

Ans X 1. for America
X 2. The Prime Minister along with

( 3. have left

X 4. the other ministers

Q.24 Select the most appropriate meaning of the given idiom

A snake in the grass

Ans « 1. A secret enemy
x 2. A good friend
X 3. A well-wisher

#< 4. Difficult to find

Question ID : 123568198
Status : Answered
Chosen Option: 4

Question ID : 123568197
Status : Answered
Chosen Option : 2

Q.23 In the sentence identify the sesgment which contains the grammatical error.

The Prime Minister, along with the other ministers have left for America.

Question ID : 123568177
Status : Answered
Chosen Option: 3

Question ID : 123568195
Status : Answered
Chosen Option : 1




Q.25 Select the antonym of the given word.

VICIOUS
Ans 75 L Unfortunate

( 2. Virtuous
x 3. Sinful
x 4. Baneful

Question ID : 123568193
Status : Answered
Chosen Option: 2




Combined Graduate Level Examination-2019 (Tier-1)

Roll Number

Candidate Name

Venue Name iON Digital Zone IDZ Powai
Exam Date 03/03/2020

Exam Time 4:00 PM - 5:00 PM

Subject CGLE Tier |

Section : General Intelligence and Reasoning

Q1 Select the letter that can replace the question mark (?) in the following series.
OB, L,C.LD,EE,?
Ans X1 N
X 2
v
X 4

T 0 A

Qllesflnn 1D...8161611

Status - Not Attempted and
‘Marked For Review

Chosen Option : --

Q.2
If the following words are arranged as per their order in the English dictionary which of the following words will come
third in the sequence?

1. Isomer
2. Isoline
3. Isotope
4. Isolate
5. Isologs

Ans o™ Isologs
& 2. Isomer
< 3. Isolate
X 4 Isoline

Question ID : 8161612
Status : Answered
Chosen Option : 2

Q.3 Ina certain code language, 'SERVANT! is coded as '192182211420'. How will'MAGNIFY" be coded as in that
language?

Ans X1 1316143522
< 21417139625
v 3 1317143625
& 4. 1426693625

Q'JSSH":". !D 2161612
Status : Answered
Chosen Option : 2




Q.4 Select the option in which the numbers are related in the same way as are the numbers in the given set.

(11, 165, 209)

Ams 1 (17,245, 323)
X 2 (14,210, 276)
X 3 (15,225,275)
W - (12, 180, 228)

Question ID : 81616115

. Not Attempted and
Stats ‘Marked For Review
Chosen Option : --

Q.5  The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

: 1
H
eed Baadea.

i [l

1

=1
Hal=d

1
(A

Ans

o

O] O
[
—

=
o<d10
—

X
=000
=] —

<]jogk= 00k

s

X
s |
<100 <1000
<00k
—_

O
Que :
Status : Answered
Chosen Option : 3

Q.6 The total of the ages of Amit and Suvarna on | January 2015 is 61 years. Amit is three years younger than Suvarna.
‘What was the age of Survarna on 1 January 2010?

Ans - 1. 29 years
< 2. 32 years
W 3 27 years
/5 4. 24 years

Question ID : 81616118
Status : Answered
Chosen Option : 4




Q.7  Select the correct mirror image of the given alphanumeric-cluster when a mirror is placed on the right side of
the cluster.

5§G7NPQ4

™o hO9UYOD R
x:CAUDBOY

“~-hDQULDO3
“~-pOQUYOG

Question ID : 81616123
Status : Answered
Chosen Option : 1

Q.8  Four number-pairs have been given, out of which three are alike in some manner and one is different. Select the
number-pair that is different from the rest.

Ans - X121 :437
X 2.33:1085
W s 11:118
K 4 35:1221

Question ID : 81616114
Status : Answered
Chosen Option : 3

Q.9 Four words have been given, out of which three are alike in some manner and one is different. Select the odd word.

Ans X 1. Non-violence

& 2 Truth
+ 5. Hatred
/< 4. Peace

Question ID : 8161614
Status : Answered
Chosen Option : 2




Q10 A+ B means ‘A is the father of B;
A — B means “A is the sister of B';
A * B means ‘A is the brother of B’:
A+ B means ‘A is the mother of B'.
I U+H*xL-Q+R-Y, then how is L related to Y?
Ans 1 Maternal grandmother
< 2. Mother's brother
« 3 Mother's sister
X 4 Sister

Question ID : 81616110
Status : Answered
Chosen Option : 3

Q11 Select the number that can replace the question mark (?) in the following series.
87, 89,92, 97,104, 115,?, 145
Ans X 1133
X 2132
X 3 125
v 128

Question ID : 81616112
Status : Answered
Chosen Option : 4

Q.12 Study the given pattern carefully and select the number that can replace the question mark (?) in it.

28 30 36

36 32 18

252 |240 |?

Ans X 1. 268

Question ID : 81616116

Status : Not Attempted and
‘Marked For Review
Chosen Option : --




Q13 Select the figure that can replace the question mark (?) in the following series.

Ans

D>

=
<>
=V

-~

v

D
Il
@

2 RIE.

Question ID : 81616119

Status : Not Attempted and
‘Marked For Review

Chosen Option : --




Q14 How many triangles are there in the given figure?

Ans xl_ 24
< 218
X322
v 5 20

Question ID : 81616120
Status : Answered
Chosen Option : 3

Q.15 ‘Beverages’ is related to ‘Tea’ in the same way as ‘Medicine’ is related to * %
Ans o 1. Analgesics

/< 2. Hospital

# 3. Doctor

# 4 Disease

Question ID : 8161615
Status : Answered
Chosen Option : 1

Q.16 Select the letter-cluster that can replace the question mark (?) in the following series.
KQG, JTK, HXO, ECS, ?
Ans X1 BIX
v 2 AIW
X s BIV
X 4 AHW

Question ID : 8161619

Status : Not Attempted and
‘Marked For Review

Chosen Option : --




Q.17 Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the odd
letter-cluster.

s X 1. KPUZ
X 2 BGLQ
X 3 OTYD
v ¢ HMRV

Question ID : 8161613

. Not Attempted and
Stats ‘Marked For Review

Chosen Option : --

Q.18 Select the option that is related to the third number in the same way as the second number is related to the first number.

73295942
Ans X1 1029
X 2 743
X3 728
v o 711

Question ID : 81616113
Status : Answered
Chosen Option : 4

Q.19 Which of the following Venn diagrams best represents the relationship between the following classes?
Police Officers, Mothers, Females
Ans

F

X

Quesliun 1D . 0l0lB1lzZo
Status : Answered
Chosen Option : 1




Q.20 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:

1. All prizes are medals.

2. Some prizes are certificates.
Conclusions:

1. Some certificates are prizes.
II. Some medals are prizes.

III. Some certificates are medals.

Ans 1. Only conclusions I and III follow.
2. Only conclusions II and III follow.
3. Only conclusions I and II follow.

+ 2 All conclusions I, II and III follow.

Question ID : 81616111
Status : Answered
Chosen Option : 4

Q21 Select the dices that can be formed by folding the given sheet along the lines.

1 6 5 /2 /
2 3 1 6
D

4 1
A B c
Ans 1 Only B, Cand D
2. Only A and B
3. Only Band C
4. Only Band D

Question 1D : 81616121
Status : Answered
Chosen Option : 3




Q.22 Which two signs and two numbers should be interchanged to make the given equation correct?
17+11-12%36+6=280
Ans  of 1. xand—; 6and 12

/<2 xand—:; 17 and 11
53 xand—: 17 and 12
X 4 +and—:6and 12

Question ID : 81616117

. Not Attempted and
Stats ‘Marked For Review

Chosen Option : --




Q23 Select the option in which the given figure X is embedded (rotation is not allowed).

Ans

Question ID : 81616122

Status - Not Attempted and
‘Marked For Review

Chosen Option : --




Q.24 Select the option in which the words share the same relationship as that shared by the given pair of words.
Calendar : Date

Ans 1. Food : Vegetarian
2. Weight : Kilogram

v = Clock : Time

4. Class : Group

Question ID : 8161616
Status : Answered
Chosen Option : 3

Q.25 Ina certain code language, DEPEND' is written as 'EPHTIJ. How will TRAVEL' be written as in that language?

Ans X1 MGZEXZ
X 2 NGYFWZ
< 3. MGWEWY
v & MGYEWZ

Question ID : 8161617

. Not Attempted and
Status ‘Marked For Review

Chosen Option : --

Section : General Awareness

Q.1 Name the Indian elected to the International Narcotics Control Board by the UN Economic and
Social Council on 23 April 2014 and re-elected by the Council for a 5-year term (2020-2025) on
7 May 2019.

Ans x 1. Sudhir Rajkumar
« 2. Jagjit Pavadia
75 3. Syed Akbaruddin

x 4. Yasmin Ali Haque

Question ID : 81616150

Status - Not Attempted and
‘Marked For Review

Chosen Option : --

Q.2 Hiuen Tsang, hailed as the prince of pilgrims, visited India during the reign of king
Ans x 1. Ashoka

x 2. Vishnugupta
( 3. Harsha

x 4. Samudragupta

Question ID : 81616140

Status : Not Attempted and
‘Marked For Review

Chosen Option : --




Q.3 As of January 2020, which of the following countries had NOT independently launched ahuman
into space?

Ans X1 UsA
X 2. Russia
o 3. india
X 4. cChina

Question ID : 81616148
Status : Answered

Chosen Option : 3

Q.4 The city of
Ans X 1. Guangzhou

X 2. Beijing
o 3. shanghai
X 4. Lhasa

is located at the mouth of the Yangtze River.

Question ID : 81616136

. Not Attempted and
Status ‘Marked For Review

Chosen Option : --

Q.5 Who among the following publishes the Economic Survey of India?Ans
“ 1. Ministry of Finance
X 2. Indian Statistical Institute
X 3. Institute of finance

X 4. National Development Council

Question ID : 81616128
Status : Answered

Chosen Option : 2

Q.6 As of December 2019, was the largest crude oil supplier to India.

Ans X 1. Iran

X 2. United Arab Emirates

( 3. Iraq

X 4. Saudi Arabia

Question ID : 81616149
Status : Answered

Chosen Option : 1




Q.7 'Kiribath' is a rice dish from
Ans x 1. Bhutan

x 2. Nepal
( 3. Sri Lanka

X 4. Myanmar

Question ID : 81616127

. Not Attempted and
Stats ‘Marked For Review
Chosen Option : --

Q.8 Who among the following was a famous 'Qawwali’ singer?
Ans X' 1 Bade Ghulam Ali Khan

X 2. Begum Akhtar

“ 3. Nusrat Fateh Ali Khan

X 4. Nazia Hassan

Question ID : 81616143
Status : Answered
Chosen Option : 3

Q.9 The birth anniversary of is celebrated as ‘International Nurses Day" every year.
Ans X 1. Clara Barton

« 2. Florence Nightingale
X 3. Mother Teresa

X 4. Alice Walker

Question ID : 81616142
Status : Answered
Chosen Option : 2

Q.10 In economies, all productive resources are owned and controlled by the
government.

Ans X1 capitalist
25 2. mixed
o 3. socialist
X 4. dual

Question ID : 81616129
Status : Answered
Chosen Option : 3




Ans

Ans

Q.13 Calcium sulphate dihydrate is commonly known as

Q.11 , the world's highest polo ground, is located in Pakistan.

X 2. Lyonpo Sangay Ngedup
X 3. Lyonpo Sonam Tobgye

X 4. Lyonchhen Jigme Thinley

X 1 glass
< 2. limestone
X 3. asbestos
W 4 gypsum

Q.14 Which of the following is NOT a part of the brain?

( 1. Pinna
X 2. Pons
X 3. Medulla

X 4. Thalamus

Ans ( 1. Shandur
X 2. Kasur
X 3. Okara
X 4. Attock
Question ID : 81616137
. Not Attempted and
Status ‘Marked For Review
Chosen Option : --
Q.12 became the Prime Minister of Bhutan in November 2018.
Ans ( 1. Lyonchhen Lotay Tshering

Question ID : 81616145

. Not Attempted and
Status ‘Marked For Review

Chosen Option : --

Question ID : 81616132

Status - Not Attempted and
‘Marked For Review

Chosen Option : --

Question ID : 81616131

Status : Not Attempted and
‘Marked For Review

Chosen Option : --




Q.15 In October 2019, was appointed as the secretary of the Board of Control for Cricket
in India (BCCI).

Ans X 1. Jayesh George
X 2. Brijesh Patel

( 3. Jay Shah

X 4. Sourav Ganguly

Question ID : 81616147
. Not Attempted and
Stats ‘Marked For Review
Chosen Option : --

Q.16 Lucifer is another name for the planet

Ans X' 1 Mars
W 2. venus
25 3. Jupiter
25 4.saum

Question ID : 81616134
. Not Attempted and
Status ‘Marked For Review
Chosen Option : --

Q.17 Which of the following countries is NOT a member of the SAARC Association?
Ans X 1. Pakistan

( 2. China
X 3. Bhutan
X 4. Nepal

Question ID : 81616144
. Not Attempted and
Status ‘Marked For Review
Chosen Option : --

Q.18 The last recognised king of the Gupta line was
Ans X 1. Ashoka

X 2. Bimbisara
( 3. Vishnugupta

X 4. Samudragupta

Question ID : 81616138
. Not Attempted and
Status ‘Marked For Review
Chosen Option : --




Q.19 The process of coating grooves or engravings in ornaments with coloured enamels is called

Ans X' 1 Zardozi
( 2. Meenakari

< 3. Chikankari

& 4 Phulkari

Question ID : 81616126
Status : Answered
Chosen Option : 2

Q.20 is the largest city in Sri Lanka.
Ans ( 1. Colombo
x 2. Negombo

X 3. Jaffna
X 4. Kandy

Question ID : 81616135
Status : Answered
Chosen Option : 1

Q.21 The Gupta rulers imposed a fine called which was a plough tax paid by every
cultivator owning a plough.

Ans \f 1. Halivakara
X 2. Hiranya
X 3.Kara
X 4.sulka

Question ID : 81616141

Status - Not Attempted and
‘Marked For Review

Chosen Option : --

Q.22 The helps in equalising the pressure on either sides of the eardrum.
Ans X 1. malleus

X 2. incus

X 3. cochlear nerve

( 4. eustachian tube

Question ID : 81616133
Status : Answered
Chosen Option : 4




Ans ( 1. Bimbisara

x 2. Prasenajit
x 3. Ajatshatru

X 4. Ashoka

Cross?
Ans X 1. Vijay Kumar

V 2. Abhinav Bindra
#< 3. Ronjan Sodhi

X 4. Gagan Narang

Q.25 1 horsepower = approximately watts.

Ans X1 674
W 2 76
X 3647
X 4764

Q.23 The first ruler of Magadha from the Haryanka dynasty was

Question ID : 81616139

. Not Attempted and
Stats ‘Marked For Review
Chosen Option : --

Q.24 Who was the first Indian to receive the International Shooting Sport Federation (ISSF) Blue

Question ID : 81616146

. Not Attempted and
Status ‘Marked For Review
Chosen Option : --

Question ID : 81616130
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude

%! Thevalue of 27a® — 2vV2b° is equal to:

At X 1 (Ba—+2b)(9a% + 2b% + 62 ab)
X 2 (3a—+2b)(9a® — 2b* — 3v/2 ab)
3 (3a—+/2b)(9a? + 2b* + 3\/2 ab)
X 4 (3a—+/2b)(9a® — 2b* + 62 ab)

Question ID : 81616163
. Not Attempted and
Status ‘Marked For Review
Chosen Option : --




Q2 The curved surface area of a hemisphere with radius 7 cm is:
(Take ™ = 37% )

Ans

< 1385 cm?
X2 462 cm?

v 3 308 em?
& 4 616 cm?

Question ID : 81616161

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q3 36+42 of 6X7+24%x6+18+3+(2—6)—(4+3x2)+8 .
The value of is:

21+3o0f 7

Ans ( 1, g

1
2.
~ 75

1
3.
K 7

4,
< 82

QUestion 1D T 81616164

Not Attempted and
Marked For Review
Chosen Option : --

Status :

Q4 tan 30° +tan 60° |
The value of is:

cos 30°
Ans xl. ‘\/§+3

Question ID : 81616171
Status : Answered
Chosen Option : 2




Q5 From the following table, how many patients were in the age group 40-60?

v 16

Age (years) less less less less less less less
than 10 | than 20 | than 30 | than 40 | than 50 |than 60 | than 70
No. of patients | 11 15 22 29 35 45 50
Ans X145
X226
X 3 29

Question ID : 81616173
Status : Answered

Chosen Option : 1

Scores

0-5

5-10 | 10-15| 15-20

20-25

25-30

30-35

35-40

No. of students

15 |18

12

14

19

Ans X1 58%
X 2 14%
v 3 42%
X 4.54%

" (@+b—c+d)?—(a—b+c—d)?=2?
A X 1da(b—d+c)
X2 2a(a+b—rc)
v34a(b+d—c)
Xa2a(b+c—d)

Q.6 As per data in the table, what is the percentage of students who got 20 or more marks?

Question ID : 81616172
Status : Answered

Chosen Option : 1

Question ID : 81616162
Status : Answered

Chosen Option : 3




Q.8 In the given figure, AP and BP are tangents to a circle with centre O. If £APB = 62° then the measure of ZAQB is:

Ans X 1. 280

Question ID : 81616166

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.9 Ina circle with radius 5 cm, a chord is at a distance of 3 cm from the centre. The length of the chord is:
Ans - X 1 7cm

& 2 3cm

v 3 8cm

X 4 4cm

Question ID : 81616165
Status : Answered
Chosen Option : 3

Q10 1t 25in6 —8 cos?0 +5=0, 0°< 6 < 90°, then what is the value of (tan 26 + cosec 26)?

Ans
v 5V3
3

X23y3
X323

X A3
3

Question ID : 81616169

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.11 The average of five consecutive even numbers is M. If the next five even numbers are also included, the average of ten
numbers will be:

A of 1 M+5
< 2 M+10
<310
X1l

Question ID : 81616153
Status : Answered
Chosen Option : 1

Q.12  The table below shows income (in rupees) for a particular month, together with their sources in respect of 5 employees
A.B.C.D.andE.

Employee A B [ D E
Salary 52.000 | 48.500 | 42,000 | 31,000 | 25.000
Overtime 0 0 1.500 | 2.500 |3.200
Arrears 5.500 |4.500 |4.000 [3.000 |1.500
Bonus 3,500 |3.000 [2.500 |2.000 |2.000
Miscellancous income | 5.000 | 3.000 |2.000 | 1,500 0
Total 66,000 | 59.000 | 52.000 | 40,000 | 31.700

How many employees have their salary more than four times their other incomes?
Ans ?{' 11

<24
vz 2
X3

Question ID : 81616174
Status : Answered
Chosen Option : 3

Q.13  In the given figure, AP bisects ZBAC. If AB =4 cm, AC = 6 cm and BP = 3 cm, then the length of CP is:

A

P c

Ans Bxl- 5cm
X2 3cm
X3 7cm
¥ 1 45cm

Question ID : 81616168

Status : Not Attempted and
‘Marked For Review

Chosen Option : --




Q.14 Acan finish a work in 20 days and B can finish the same work in 25 days. They began together. but B left the work after
5 days. How many more days will A take to finish the remaining work?

Ans X121
X 28
<316
vl

Question ID : 81616159
Status : Answered
Chosen Option : 4

Q.15 What should replace * in the number 94*2357, so that number is divisible by 11?
Ans X1 8
v 3
P
K7

Question ID : 81616151
Status : Answered
Chosen Option : 1

Q.16 Two numbers are in the ratio 5 : 7. If the first number is 20, then the second number will be:
Ans  of 128

X218

<38

X422

Question ID : 81616157
Status : Answered
Chosen Option : 1

Q17 1n AABC . if AB = AC and £ZBAC = 40°, then the measure of 2B is:
Ans X 1. 500

< 2 60°

'3 70°

X 4 40°

Question ID : 81616167
Status : Answered
Chosen Option : 3




Q.18 Two racers run at a speed of 100 m/min and 120 m/min, respectively. If the second racer takes 10 minutes less than the
first to complete the run, then how long is the race?

Ans xllkm
v 2 6 km
X 3 2km
X 4 4km

Question ID : 81616160
Status : Answered
Chosen Option : 2

Q.19 If the difference between 62% and 80% of a number is 198, then the difference between 92% and 56% of the number
will be:

Ans  of 1396
X 2 3564
< 31100
X 4360

Question ID : 81616155
Status : Answered
Chosen Option : 1

Q.20 The number of students enrolled in different faculties in a school is as follows:

Science Arts Commerce | Vocational

Boys | Girls | Boys | Girls | Boys | Girls | Boys | Girls

35 18 |25 |47 |45 40 (10 |30

The percentage of students studying in Science or Vocational subjects is:
Ans off 1.37.2%

X 2 50%
X 3 259%
< 4939

QuUeston i - o1lolbl/o

Not Attempted and
Marked For Review
Chosen Option : --

Status :




Q.21 A person marked his goods at a price that would give him 40% profit. But he declared a sale and allowed 20% discount
on the marked price. What is the profit percentage of the person in the whole transaction?

Ans - X1 32%
X 2. 20%
v 3 12%
X 4 30%

Question ID : 81616154

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q22 1n the figure, what is the value of cot6?

P
17

Ans

17

: 15
2, o
x 17

15

¢4. 15

o
Que :
Status : Answered
Chosen Option : 4

Q.23 Adealer sold 6 sewing machines for ¥63.000 with a profit of 5%. For how much should he sell 8 machines if he intends

to earn 15% profit?

v 1 392,000
< 2 269,300

< 3 288,200
7 2 %92.400

Ans

Question ID : 81616156

Not Attempted and
Marked For Review

Chosen Option : --

Status :




The value of —% oo % 240 X i is equal to:

Ans

Xl._g
8

v 19

Question ID : 81616152
Status : Answered
Chosen Option : 2

Q.25 The simple interest on a certain sum at the end of three years at 5% p.a. is ¥1,200. The compound interest on the same
sum for the same period at the same rate is (interest compounded yearly):

Ans - X1 %820
2. 31,260
3. 31,800
4. 31,261

Question ID : 81616158
Status : Answered
Chosen Option : 4

Section : English Comprehension

Q.1 Select the most appropriate option to substitute the underlined segment in the givensentence. If
there is no need to substitute it, select No improvement.

My shoes were worn out so | had to buy a new one.
Ans X1 anew ones

X 2. No improvement

x 3. the new one's

( 4. new ones

Question ID : 81616181
Status : Answered
Chosen Option : 2




Q.2 Select the option that expresses the given sentence in reported speech.

She said to me,"" What time is your flight tomorrow?"'

Ans X 1. She asked me what time is my flight the next day.
X 2. She asked me that what time was my flight tomorrow.
( 3. She asked me what time my flight was the following day.

X 4. She asked me what time my flight will be the next day.

Question ID : 81616179
. Not Attempted and
Stats ‘Marked For Review
Chosen Option : --

Q.3 Select the INCORRECTLY spelt word.
Ans X 1. Pierce

X 2. Piteous
X 3. Pursue
“ 4. Patrner

Question ID : 81616198
Status : Answered
Chosen Option : 4

Q.4 Select the INCORRECTLY spelt word.
Ans X 1. Nuisance

25 2. Negligible
( 3. Negociate

X 4. Necessary

Question ID : 81616199
Status : Answered
Chosen Option : 1

Q.5 Select the most appropriate meaning of the given idiom.
Blow one's own trumpet
Ans X 1. Condemn others
“ 2. Praise oneself
X 3. Follow others

X 4. Be self-reliant

Question ID : 81616195
Status : Answered
Chosen Option : 2




Q.6 In the sentence identify the segment which contains the grammatical error.

Deepa walked down the road slowly without looking anybody.

Ans x 1. down the road
x 2. Deepa walked

J 3. looking anybody

x 4. slowly without

Question ID : 81616176
Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Select the most appropriate optionto fill each
blank.

Watermelon is thought to have originated in Africa's Kalahari Desert. Believe it (1) not,
the first recorded watermelon harvest (2) nearly 5000 years ago in Egypt and is

3) in Egyptian hieroglyphics on the walls of their (4) buildings. This fruit was
often placed (5) the burial tombs of kings to provide nourishment in the afterlife.

SubQuestion No : 7
Q.7 Select the most appropriate option to fill in blank 1.Ans

75 1.and
5 2. but
X 3.if
W o

Question ID : 81616183
Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Select the most appropriate optionto fill each
blank.

Watermelon is thought to have originated in Africa's Kalahari Desert. Believe it (1) not,
the first recorded watermelon harvest (2) nearly 5000 years ago in Egypt and is

3) in Egyptian hieroglyphics on the walls of their (4) buildings. This fruit was
often placed (5) the burial tombs of kings to provide nourishment in the afterlife.

SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank 2.ANs

x 1. contained

x 2. produced

( 3. occurred

x 4. discovered

Question ID : 81616184
Status : Answered

Chosen Option : 3




Ans

Comprehension:

In the following passage, some words have been deleted. Select the most appropriate optionto fill each
blank.

Watermelon is thought to have originated in Africa's Kalahari Desert. Believe it (1) not,
the first recorded watermelon harvest (2) nearly 5000 years ago in Egypt and is

3) in Egyptian hieroglyphics on the walls of their (4) buildings. This fruit was
often placed (5) the burial tombs of kings to provide nourishment in the afterlife.

SubQuestion No : 9

Q.9 Select the most appropriate option to fill in blank 3.Ans

x 1. directed

75 2. distributed

J 3. depicted
x 4. diverted

Question ID : 81616185
Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Select the most appropriate optionto fill each
blank.

Watermelon is thought to have originated in Africa's Kalahari Desert. Believe it (1) not,
the first recorded watermelon harvest (2) nearly 5000 years ago in Egypt and is

3) in Egyptian hieroglyphics on the walls of their (4) buildings. This fruit was
often placed (5) the burial tombs of kings to provide nourishment in the afterlife.

SubQuestion No : 10

Q.10 Select the most appropriate option to fill in blank 4.

x 1. obsolete
W 2. ancient
x 3. elderly
x 4. outdated

Question ID : 81616186
Status : Answered

Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Select the most appropriate optionto fill each
blank.

Watermelon is thought to have originated in Africa's Kalahari Desert. Believe it (1) not,
the first recorded watermelon harvest (2) nearly 5000 years ago in Egypt and is

3) in Egyptian hieroglyphics on the walls of their (4) buildings. This fruit was
often placed (5) the burial tombs of kings to provide nourishment in the afterlife.

SubQuestion No : 11
Q.11 Select the most appropriate option to fill in blank 5.

Ans X' 1 along
25 2. with
o zin
x 4. after

Question ID : 81616187
Status : Answered
Chosen Option : 3

Q.12 Select the option that expresses the given sentence in passive voice.

Martin drew a picture of the snow-capped mountains.

Ans x 1. A picture of the snow-capped mountains is being drawn by Martin.
x 2. A picture of the snow-capped mountains is drawn by Martin.
i 3. A picture of the snow-capped mountains was drawn by Martin.

x 4. A picture of the snow-capped mountains has been drawn by Martin.

Question ID : 81616178
Status : Answered
Chosen Option : 3

Q.13 Select the most appropriate option to substitute the underlined segment in the givensentence. If
there is no need to substitute it, select No improvement.

He sing_always when he is having a shower.

Ans x 1. He always sing
x 2. Always he is singing
( 3. He always sings

x 4. No improvement

Question ID : 81616180
Status : Answered
Chosen Option : 3




Q.14 Select the most appropriate synonym of the given word.

IMPLORE
Ans X 1. Honour

( 2. Plead

X 3. Command

X 4. Refuse

Question ID : 81616191
. Not Attempted and
Stats ‘Marked For Review
Chosen Option : --

Q.15 Select the most appropriate antonym of the given word.
VIGILANT
Ans X 1. Cautious

25 2. Alert
“ 3. Rash
& 4 wary

Question ID : 81616193
Status : Answered
Chosen Option : 4

Q.16 Select the most appropriate antonym of the given word.
FLEXIBLE
Ans X 1. Supple
\f 2. Stiff
X 3.stale
X 4. s0ft

Question ID : 81616192
Status : Answered
Chosen Option : 2

Q.17 In the sentence identify the segment which contains the grammatical error.

Everything that | like to eat are fattening.
Ans X 1. Everything that

“ 2. are fattening

X 3.1 like
X 4.to eat

Question ID : 81616177
. Not Attempted and
Status ‘Marked For Review
Chosen Option : --




Q.18 Select the most appropriate one word substitution for the given group of words.

A person very reserved in speech
Ans X 1. Confident

“ 2. Reticent
X 3. Adamant
X 4. Eloquent

Question ID : 81616197
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate meaning of the given idiom.

Spill the beans
Ans X 1. Waste money

X 2. Work hard
X 3. Perform magic

( 4. Give away a secret

Question ID : 81616194
Status : Answered
Chosen Option : 4

Q.20 Select the most appropriate option to fill in the blank.

The students went to their classes after the morning assembly.
Ans ( 1. respective

X 2. respectable
X 3. respectful
X 4. respected

Question ID : 816161101
Status : Answered
Chosen Option : 1

Q.21 Select the most appropriate one word substitution for the given group of words.

A place where clothes are kept
Ans X' 1 Coffin

X 2. Hangar
X 3. shaft

( 4. Wardrobe

Question ID : 81616196
Status : Answered
Chosen Option : 4




Q.22 Select the most appropriate synonym of the given word.
GLORIOUS
Ans X1 gentle
x 2. unusual
x 3. enormous
“ 4. splendid

Question ID : 81616190
Status : Answered
Chosen Option : 4

Q.23 Given below are four jumbled sentences. Out of the given options pick the one that givestheir
correct order.

A. He then called out to the people but by then only a red glow was visible in the sky.
B. At first, he thought it was a stuck kite.

C. Bheema was visiting his fields when he spotted a rising disc shaped object.

D. But when it started rising higher and emitted light, he was shocked.

Ans \, 1. CBDA
75 2.BDAC
/5 3.BACD
7 4.CDAB

Question ID : 81616188
Status : Answered
Chosen Option : 1

Q.24 Given below are four jumbled sentences. Out of the given options pick the one that givestheir
correct order.

A. It requires physical endurance, which can be built with training and exercise.

B. Truly strong personalities meet challenges of life bravely and face hardships with
equanimity.

C. However, strength of character is a personality trait or a quality.

D. Physical strength is the ability to cope with a physically challenging task.ANS

X 1.BACD
75 2.DBCA
W 3.0AcB
75 4.cBAD

Question ID : 81616189

Status : Not Attempted and
‘Marked For Review

Chosen Option : --




Q.25 Select the most appropriate option to fill in the blank.

Ans

The government has warned the traders not to

x 1. gross
« 2. hoard
x 3. combine
75 4.bulk

onions.

Question 1D : 816161100
Status : Answered
Chosen Option : 2




